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For all deaths — o Hob

Overview

The P °27 teach us that the 770 equated an MnPn 937 WXL WK,
Superficially, this seems to mean that a woman is liable for the death
penalty, just as a man is. N201N, however negates this interpretation, offers a
different one, and explains why.

Mmoo explains that the phrase 'mn 3% WX WK 21027 MY’ -
— WIND HY 1139 9919 IN NN BNOYY PAINY MY

means that one is liable for killing a woman, to receive the death penalty
or to pay 9912, just as one is liable for killing a man.

mooIn supports this contention that the equality [between woman and man] discussed
here, is in reference to the victim (as opposed to the perpetrator) -
— YN IN VUIN HINT NIP 29N »2N1T

For this is what the 02 of TwR WX WX n»m is discussing. The 70 is
equating a woman victim to a man victim (but it is not comparing the different
perpetrators).

mdoIn brings an additional proof that we are discussing the victim:
— 1YY NN ON NNYI TN DIVM 9IRP 319 TINDIY

And shortly also the X 13 states (when it is explaining why we cannot
derive the rule of ¥ X% 7w 2127 Mwn [for other instances] from the P09 of
nnm) that perhaps only by n»m the 790 had mercy on her because there

is a loss of a soul, therefore the perpetrator has to pay 1915 (but not concerning other
issues). Again we see that we are discussing the equality of the victims.
$YIN 1D NNNY NIMNNY NYNI 39N XD

And the X773 is not discussing a case where a woman Kkilled that she
should be liable just as a man is.'

Summary
The AWXR W WX N 2100 teaches us that one is equally liable for killing a

woman as for killing a man.

Thinking it over

From which of the (other) two nMwA7 is it more likely that we derive the rule
that a woman is liable if she kills*; from 7naw Pwny 95% or from 77 939
aMnaw?!’

! Seemingly this is derived from one of the other two ¥"¥1 ,mw77. See ‘Thinking it over’.
2 See footnote # 1.
3 See, however, 11"nX.

TosfosInEnglish.com



